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class Main{
public static void main(String args[]){
Obj obj = new 0bj();
MyThread mt = new MyThread(obj);

mt.start();

}
}
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class MyThread extends Thread{
Obj £1;
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MyThread(0Obj x){
f1 = x;
}
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public void run(){
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class C{
Obj £1;
Obj £2;

Obj method(0Obj al, Obj a2){
0bj temp = f1;
f1 = ail;
£2 = a2;
return(temp) ;
}
}
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class Main{
public static void main(String args[]){

C c_obj;
Obj result;
.. // 00001
result = c_obj.method(xl, x2);

19 .. // 0000 2

20 }

21}

— = = = =
0 O Ut

J

ooboob 2. 0000000000000000

C c_obj;

./ 3—KRE

result = ¢c_obj.method(x1, x2);
./l 3—FE2

a
b |Cc obj;

./ a—FE

b2 ‘[hismhod =c_obj;
al =x1;

a2 =x2;

b, | Obj temp = this.f1;
‘[hism hOd.fl =al;

thlsmetho d.f2 =a2;

returnm 0 temp;

et

ctho

b, | ! |
L]

b5 | result = return

method’ |

b [...//3—FE2 |

U 1g0gbdgb2g0bogboooogon

3.2 UO0OoOoooOoood

O0o0 coooooooog C(alyae2,...)000
gooooooooog

000000 v =new C(zl,22,...) 000000
godoobooooooboooooboooooooog
00000000 OoOOooOooO wLObwbwOoooaoon
goooooon

b DOOODOOOODO

00v0000000000000000000
000000000000 v=MALLOC() O
0000000000000000000000
thisc = v0 al = 21,a2 = 22,... 00000
ooQ

bs 000000



ooooo0dov=thscOOOOOO

33 UDUUUOmUuioobobOOOoOoon

0000mO0000 (0000 b)0000000
0mO0O0O0D000000000000000000
000000000000000006000000
000000000000

00000000000000000000000
00000000000 000000000000
00000000 O000000000000000
000000000000000000000000
000000000000000000000000
00000000000000000b 000000
00000b000000000000000000
000000000000000000000000
000000000 by,bs 0000000000

00000000D00000D0 ¥ 000K 00
s1,8h,...,8,, 00000000 s,00000000
mO000000000000000K 000000
000o0Oo

b, 0000 mOO0O00OD0OOO

si,8h,...,8_, 00000000

b, 0000 mOOO0
0000 mOO00 al,a2,...,an 0000000
00000000000000mO000000
00000000 this, 0100000000000
b, 000000

0850 v=um(rl,z2,..,2n); 0000000
000 00000000bs00 v=return,;
agood

b, 0000 mOO00D000000
841,840, 8, 00000000

pooooo

34 0O0OUOOOOOOOO

0000+¢«000000000 tstert()0DO00O0O0OO
trun() 0000000000 OO0OOOOOOOOO

000000000000000000000000
0000000000000 000000 »,0000
000000 THREADSTART(t) 000000
00000000000000000000 bg000
0000 t00000000000 by, bs,bs,bs 100
0000000000000000 by by, by bs, by
S oby by by b b 000000
000000000000000 20000

b
MyThread mt;
./ 3—FE1
mt.start();
../l A—KER2
b1
MyThread mt;
L) a—KE
THREADSTART (mt);
b6 | thisrun: mt’ | b2
\
|mt.run()0)2l—|: |b3
.. /) A—FER2
b
* 4
| 2
0200000000000
4 0O0O0OO

gogoobbboooobobbooooboboboog
000000000 [2]0 Connection analysis [3] O
oooooooboobood



4.1 0OO0O00OO0

00 «000000DODOO0ODDOOOODOOOOGb
gbobooooobooobooboobooboooo
O0000boO00000«0bD0O00OO00O0ODO
OO0 BDo0000o0o0oo A000O0og a0
000000000000 A0DOO (a,b)000ODO
gboboooboobebOO0OO0OD0OO0OO0OOCOO0ODOOOOO0
00000000 (e,e)0 ADODOOUDODOOUOOO a
0000000000000 00000000 (a,a)
OA000OOCOOODOOOOO

gbooobooboooooboooboobooon
0000002, 3000000000000 0On
oooobooooobooboboooboooboooog
gbooobooobooobooobooobooooooog
oboooooooooobobooobooooboooogg
obooooboooboooooboooooobooboog
oooooooooooboooooboooooobog
gbooooooooboo

e Thread D OOOODOODOOOOOOOOODOO
ooooooooo

e Thread DO OOODOOOODODODOODODODO

0000000000000000000 a,83,7,6, ...
00000000000000000000000V
Doooooooo

4.2 0O0O0O0O0OO0OO0OOO

[20000000000000000000000
00000000000 bOOOOOO 200000
0000 Arngy Aovry 00000000000

’AIN(b)
0oooO bOOODOODDODDODOOOOOOOOO
oo

o Aour)
0000 bOOOOOODOOOOOOOOOO
oo

gbooobooboboobsboobgobogoog
oooOoO0 A, 00Qoo

ANy OO0ODOO0ODOODOODODOO0OO

U Aovr(p) (1)

Pepred(b)

ArNe) =

00 Aoury 0000000000000 Aoure
0002000000000

o Arnw)

e JO0OO bODOO s1,82,...,8,
000ooooooooooooooooooooon
000 sO00ooooooooooo 7, 000004d
00000 (7, 0000000000 B)ooUoo

00000)0Aoureyy 000D000D0000DDOOO0
goooooo

AOUT(b) =Ts,0..0T,0 Tsl(AIN(b)) (2)

0000000000 000000 »0000
Ainwy = Aovrpy = ¢000000000000
000000000000000000000000
0000000000000 0000000

4.3 T,00000

7, 0000000000000 @B|o00000o
AO0O0O0O0O0O00O0O0 sO0O0O0OoOooooooo
000 T,(A)000U0oooooooooo

e 0sl a=MALLOC()OOO

cU0000OCO0DOO0ODOOODOOOOOOO
ooboooboooooboobooooboon

To(A) = A—{(a,9)l e Viu{(e,a)}

good

e s a=null0O0O0O

cO00000OCO0D0OO0ODOOODOOOOOOOO
ooooo

T.(A) = A—A{(a,y)ly eV}



eOsOa=8,a=0.f,a=pF 000

cll000b000bOO0obO0obOOoO0bOObOOoOnOa
O0pg000O0OoOoOooooooooooon

T,(A) = (A={la,n)leV})

U{(a, 9)[(8,0) € A} U (@, q)
oooo

eOsOaf=4000

cO0000000O0DOCOODOOOOOODOOO
pO0000O0OOOOOO0ODOOOOODO
oopooO0OpoO0ooOoOoOooobOOoDODDOOO
bbodbbOebOO0OO0OO0OO0O0O0OO0O0DOODOOO
gbooooood

To(A) = AU{(r,9)l(e,7) € A,(B,0) € A}

good

bobooooooooboobooboooboooo
obooooooooobooo«a,«20000000
ooooooo

e OsOa=4f1f2..000
0sO0a=60000000

T5(4) = (A—{(.lreV})
U{(, 0)[(3,6) € A} U (o, )
oooo

e 0s0 aflf2.. =0, a.fl.f2...= B.f'1.f2.
o flf2...=4[|000

0sOaf=40000000000

To(A) = AU{(r,9)l(x,7) € A,(8,0) € A}

good

o U s0 ali] =B, ali] = B.f1.f2...., ali] = B[j]
oono

O0s0ef=40000000000
T(A) = AU{(r,9)[(e,7) € A,(8,9) € A}

oood

e 0 sOtl=MALLOC()DDD

O0«N0000000O00ooOoooogno fo
gboooobobooooobooon

Ts(A)

(A—A{CLf,[tLfeV,y V]
U{(t1.f, t1.f)|tL.f € V)

oood

e UsUtl=null000O

oo0«aoooooooooooooogn fo
null 0000000000

To(4) = A—A{@Lf,)[t1feV,yeV}
oooo

e UsOt1=¢t2000

00« 00000D0000D0000 fO0 2.f0
gboooooooo

To(A) = (A-A{(Lf,tLfeV.yeV])
U{(tL.f,M[tLf € V. (v.t2.f) € A}
U{(t1.f,t1.H)tl.f e V}

o000

0s00000000000000000000
T,(A)=AD0000

5 Uoooboobouoobgd

gobooooboooobooobooobooooobo
200000000000O00O00OC0O0O0O000D0
ooboooooobbobD «00bboobooobooo
oooooooob20b0000b0oooooon
gboooboooboooooboobooboooog
MTOT(«)DOO0OOOOOOODOOODOOOOOO
goooooooooooo MTroroooooogo

bboobooobooooboooooboooooobn
goooooooOoOo MrorooooOoOooooo
oooooo MroroooopDooOooooooo
MToTooOoOoOOoOOoOoOoDoOoOOo



0000 bOODOOO0OO MTOT;nw(a) 000
00O00O0O0000O00o0

MTOT N (o) = U MTOTourp)(a)  (3)
pepred(b)
0oodobOODOODOOO MTOTODOOOOO
gdoboddboooobooboooooboooooa
doodooo MTorooooooooooooood
gobod0oooooooooboboooooodooa
00 00O MTOTIN(b)(a) = falseO0OODO0O
ogoobobooddoooooooooooooooood
J00o0o0o00opooooonono Mroroaoad

gooooo

000000 k0000 s 00D0000OODOO
00000 a0 MTOTDOO MTOTs, ()00 00O
DDDMTOTSk(Oz)DDDDDDDDDDDDDDDD

e Osxda=MALLOC()OOO
ol s, 0000000O0O0COCOOOO
gogooooobo

— 0000000000000 DODO0O0DO
goooooo s, 000000oooooon
gbooooboobooboobooooon

MTOTs, (o) = false

goog

— o0000000000000000 sg—1 0
ooooboboO0 «0O0O0 20000000
gobooOoooobooooboooooobo
goboooooooboz2000000000
goooooboooDboooonon sg—1 O
goboobooboOo «000 20000000
gobooOoooobooooooooooo
goboooooooobooooooooobo
gboooobooobogoooo

MTOT,, (o) = MTOT,, (a)
oooo
00000000000 400000
MTOT, () = MTOT,, ,(f)

oood

e sy a=null0O00

0sy0a=MALLOC()DOOD0D0O000«
00 s, 00000000000000000
0000000000000000 s 0 a =
MALLOC()0DO00000D0000000

Osx0a=p,a=0.fl.f2..,a=0000
aJ00000000000O0O0O00O0O0DODOOOd
0dpg0d0oo0DOooDoooOooooooa

- 0000000000
MTOT, (o) = MTOT,, ,(B)

obooo

— o000000000DO0O000O00«000
20000000C000O000O0000O00
gooooooogpo pooboOoobooOoO
gobooobooooobbooooobooo
gbooooboobooboooobooon
00000000 (a,y) € A, 000000

yOGOogd
MTO,Tsk ('Y) = MTOTSk—l(a)
VMTOTs, . (0)
gooo

MTOTOOOOOOOOOOOOOOOOOOo
oooOoOO

MTOT,,(§) = MTOTs, ,(5)
oood

O s 0 afl.f2.... =0, a.fl.f2.... = g.f'1.f'2.
o flf2... =4[i]000

o0 p00000D0O0ODOOODOODOODOOODOO
uoboobooooooboooooboooao
O0OMTOTs, ,(e)000 MTOTs, ,(8) 0O true
goooooooooobooooooooooon
ggbood20b0000oboobobbooonoo

000000 (a,y) € A; 0000000000
MTOTs, (v) = MTOT,, ,(a)V MTOTs, _,(5)

oood



MTOTOOOOOODOOOOOODoOoOOoOod
oo0OODO

MTOT, (5) = MTOT,, (5)

good

0 sk O ali] = B, ali] = 5.f1.f2...., ali] = B[]
ooo

0 s, 0 a.flf2..=400000000000
0oDo00000O0o

0 sx 0 THREADSTART(t) 00O

obooooobooobooooooooooboon
oooboboooooboooooobooooooono
ooboooboooooooboooboboooboobogoo
goooooooooooooooog MToT
O0+true0 0000000

0s00000000000000000000
00000000000000006,00000
0b,05,00000000000000000
00 B,0000000000000000000
00000000000000000¢00000
00 t.fl,tf2,..0 00000000000

— MTOTOD false 000000 t.f;f 000
0s 0000¢tf;0000000000
0B,0000000000000000
0000000000 D0000¢tf000
0000000000000000000
00000000000000000000
(t.fr,7) € A, 000000 ~0000

MTOTs, (y) = true

gobooobobooobooboobod

MTOT;, (t.fr) = false

ogooog

MTOTOO true0 00000 ¢t.f, 000

t.ff0000000000O0DOOCO0O0O0O0
gbobooobooboboobooooo

ug
MTOTs, (t.f:) = true

oooo

MTOTOOOOOODODOOOOOOoooood
oooOoOoO

MTOT,, (§) = MTOT,, ,(5)

goood

e UsOOOOOOODOO
gbooooobdbood «0on0og

MTOT,

MTOT, (O‘) = Sk—1 (a)

good

5.1 ddoduoudoooooooood
gbooodgg

Os 0000 MTOTOO treee 000000 O
false0ODOOO0 o 0000, 00000000
gbooooooboooboobooboooboooog
ooooodoooooooono ep0000O00O0
gboobodgboboobobooboooobaobaoo
gboboopobobogb sgdboboboog
gboooobooobooboobooobooboooo
ooooon

o o, UDOOOOODOODODODDODODLDOODO
gboooooboooooo

ey 00O 0OO00O0OO0O0OO0OOO0OOOOOO
goboooboooboobog

6 0Ud

ooooboooboooobooobooboooooo
gboooooobooboooboobooboooo
oboooooooboooboobooooobooooog
oobooobooooooooboobooobooboog
gbobooboooboooooboooboooboooog
gboooobooobooooooboobooobooooa
oboooooooooboooboooooooboog
obooobooobo20b000b0ooooooboooog
good

e JOOOOOOODOO



e JIIDOODOODOODODO

oo0o000ooOooDoOo0o0 MTOTODO true00D00O
oobooobooobooooobooobobooboobooo
ooboobooooobooooboooooooooog
ooboooooooboooooooooooooog
Oo0oooMTOTDOD tree OO D OODOOODODODO
ooooboboooboobooboooobooobooooog
ooo0ooo0 MToTo0O0 tree000000O0OO
gboooboobOooboobooooooooboog
OO0 MTOTDOO tree0000000OOOOODOO
o20000000000000000O0DDOOOO
gboooooooboooooboobooboooo
obooooood

oboooboooooobooboobbooboon
oooooboooooboooobooobooooooog
gboboobOoobooobooboooboobooboooog
obOooooooOooooboobooooobooban
obooooooboooooboobooobooooo
ooooooobooobooboooooooobooo
gbooobooooboooobooboobooog
oboooooobooobooooboooooooobooag
ooboooboooooboooboooboooooooo
gboooooooboooooboobooboooo
gboboooooooooboooobooboooog
oboooooobooobooobooobooboooo
ooboooboooobooobbJavalOOnooO
O000000000000000 jein()0DO0OOODO
oboooboobobooobooobobooobooa
oboboooooooooobooboooboobooog
gooooooboooboooooboobooobo
gbooooooooboo

7T Ugg

gboboooboooboobooobooboooboooon
odoooooooooooooooobobooboooo
oboobooobooboboooooooobooboobooon
goooooobooobooboooooooooog
gooooooooo

oboobooooooboooboooboobooon
gboooooobooboobooboobooboooo

gboooboobgobooboboooboboboong
gboooobooooboobooo

ooon

[1] Richard Jones and Rafael D. Lins.
Collection. WILEY, 1996.

Garbage

2 D000. DO00O0O0OO0DOOOODOO0O. oDDoao,
g 20, 2009.

[3] Rakesh Ghiya and Laurie J. Hendren. Connection
analysis: a practical interprocedural heap analy-
sis for c. Int. J. Parallel Program., Vol. 24, No. 6,
pp. 547-578, 1996.




